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i

et 7 12 shared into
a‘_%__S_}‘ldl‘n'hg 3 equd groups

There are 12 cats,
Three people each have the same number of cats.
How mary do they have each?
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— - How marny groups
(\Eﬂ—_' DNy of 3 are there in 127,

There are 12 cats,
Each person owrs 3 cats,
How mary people are there?
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8+7,949,14+3 @
Number facts

Single digt numbers
boubles know 3 ¢ 7= 10 Hiknow3pe2ws
Teens and single digits then T ko then T know

Fteng # 2 teng = 5 teng
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then T knos:
4 terg = 2 teng = 2 teng

How shall T subtract?

Take away 20 then add 1
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Count in ones

1,2,3,4,56,7,8910,11,12

Count in twos

+ * + 2,4,6,8,10,12
+4 +4 +4
e Use a known fact
0 4 8 12

If2x3is6, then

? 4+44+4=12 4 % 3 is doubla &.
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) How many groups
Sharing 12 shared into ’ (\ ouping ' of 3 are there in 127
(ﬁ 3 equd groups
There are 12 cats,
There are 12 cats. tabh Each person owns 3 cats,
Three people each have the same Recel arl uee: 2 G and 10 How many people are there?
number of cats,
How many do they have each?

12

Link to fractions.
;:ﬁﬁ One third of 12 s 4
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Doubles

8+7,9+9,14+3
Number facts
Single digit numbers

Tens to make 100
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6x4 40 ten tmes
Use known facts ‘grester than 4.
ard place value

6x4=24
60 x4 =240
6 x40 =240

B4B8¢8w
34343434343 4343

How shall T multiply?

17x 4
Partition and recombine
e

24cm
10x4+7x4
6x18 404+ 28 =68
=5x2x18+2
= 10 x 9
= 9
18
17
10 X4
68
-
9
£
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Use h“‘:"‘"""' acts hmf atad n:kltlm

ard place value

24 bigculks ghared bebween 2-4-0.4-ﬂ'=ﬁ
4 pesple means they wil get Hew mary steps of 40 make 2407
£ Discuits each,
If there are 10 times as mary
people and 10 tmes o many'

Discuts, how mary Dsouts
each "

,ﬁ-ﬁ 40 ”_""__x 0 L -
P i
5 a5
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there are half a5 ma

49 o f  l Dscus andhaf o many
Double and have S
S 42 26=21=3
42




09409, 74+ 26
Number facts
Single digt decimals

Bonds of 100
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Doubles

HIknow243»5
then I krow
2000 + 3000 = 5 000

+04 +03

156 23

> T ﬂ\
5,748 + 3374
Formal written method

Uceraed 12 and for the scchuse uee for Schodl anganiation_Woolanian Primary Schoo

Add 2,000 then take away 2
42,000

i >

3356 5354 536
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13-5,18-08 @ e 2
Mumber facts

//f 6342-3020
Single digt rumbers Use place value to subtract
Halves — ——

Wholes and tenths

®e ‘II o

Take away 2 then add one hundredth

TN

0 & 257 456
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06 & ten temes —  6x4
6x4 40 i ten times smafer than 6 Use known facts
Use known facts @eder than & and place vak

and place vdue 05x4=2.4
6x4 =24 4 jumps of 06
60 x 4 = 240 +06 +086 +06 +06
60 x 40 = 2400 R R SRS e SRR
0 06 12 i3 24
234 x 100
i
saekadaiiog 06 X 4 = 24 tenths
06x4=24
06 1

e®
o0 00
@
00 o0 @
e %o -
3Bx7
; Formal written method
45x6 =7x80+ 7 x5) 210 42
Use factors and =210 + 42
¢ co ' =262 » 6 3%
5 x 7
7| 210 42
2x (5%6)=(2X5)X6 ol 2267 %2
2x30=10x6 45 %6 i o S
=5x9x6 200 \ [30N\ [6\
=6x6x9 X7 X7
= 0 x9 .
& b 1400 + 210 + 42 =1662
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e 340 & ten bmes Hr —
( Use I-c.ru:-wn f’ncl:s aresher then 94 L'ts!: krnun T‘ﬂ-l:‘l:s
e __and place value —__and place vaue

24 besouiks shared between
24 +4=6 ;pmphmﬁwwl# 2400 = 60 =40
240+40=06 If there are 100 bimes o many memﬁm
2400 - 400 =6 mﬂt:ﬁwimﬂl e [ 10x60 Wﬂ& 10 % 60
each

—\-\.._h_v‘___,.ﬂ—'_‘—\-u.\_\_\-
2400 + 400 = 24 x 100 ] 600 1200 1800 2400

4 x 100
24 =6
4
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—_—

fﬂ_—
0B+07 45+ 45

Hiknow 2455

-— — ‘then T lkenow

/ 12,408 + 3,020
Use place vdlue to add
mmﬂ'ﬁ \\-\‘-._

oy —

700,000 + 800,000 = 1,500,000
I I

10,0008 | 1000s | 100s
(@]

_4—

<’ 32,356 + 1q,q=|a

- Rmrdﬂﬂnu#.ﬂ/

10,0005 | 1000s | 100s | 10s

DDG o0 (%3 %8 8%

Add 20,000 then subtract 2

2000
L

32,356 52,354 SLEE
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9-4,13-518-9

MNumber facts

Single digt decimals
Halves

// 40,012 - 3,006
Use place value to subtract

\\\‘—-._

15,000 - 8,000 = 7,000
150,000 - B0,000 = 70,000
1,500,000 - 800,000 = 700,000

I I
o000

40,000 = 4 tens of thousands or 40 thousands
12 = 1 ten and 2 ones or 12 ones

@ 40,012 = 40 thousands and 12 ones
take gway 3 thousands and § ones

equats 37 thousands and 7 ones.

How shall T subtract?

46748 - 26,374 10,000s | 1000s | 100s | 10s | 1s
. o0 |00 e
Fnrmdwnl:tmnmmnd % g o |00 C}§ o
ﬂ—ﬂn:-:uur 4,‘5‘5]'43
ﬁﬁﬂﬂgi Take away 20,000 then add 2
10000s | 1000s | 100s | 10s | 1s J_;f:@ T
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6x4
6x4 40 &5 ten times wu: Use known facts
Use known facts greder than4 and place value
and place vdue 06x4=24
6x4=24 iy ol 0D
60 x 4 = 240 +06 +086 +06 +06
60 x 40 = 2400 D R A, & R
0 06 12 i8 24

©x10x&x10

“hach

06 x 04 = 24 hundredths
06x04 =024

1
1000s | 100s 10s 1s 1138 1;—08
9 &S OO
. %o 23‘
o0 00 &
® o‘ o
0 o
() o‘ "
L 1 NSISEI )
A “ 2340
423x 4
Parttion and recombine
427
i o X B
400 \ [20\ [3\ 5@\? 123;15“
¥4 Y4 x4 =15xE # 15x8’ 16226
1600 + 80 + 12 = 16%2 :"2‘1’51”
oo
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oK o 24,000 & o thousand teres —_—— T —
D

amaller than Use known facts

-
24 biscuRs Shared betwesn ~—__and place value
el e oyt 24-06=4
m::«wm + 056 + 056 + 06 +056
0 06 12 148 24
How shall I divide?

14

5724

1431
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[E]
— I
44 4 56, 27 + 27 @
MNumiber facts ,
Single digt decimals
Doubles
1
Sl

Thriow iT #1734
ez I Krow
'-"H.'-"-EH-

170,000 + 170,000 = 340,000
700,000 + 1,700,000 = 3,400,000

1,000,000s| 100,000 | 10000s| 10005 | 1005 | s | 15

0028 +0015 a0
Bn:t;atl-rm.#mu:dm
mrn\gnemtm
A —— o —
foai sz +000s 432356 + MO00
0 0028 ﬂmmﬂﬁ Rmrdtl'!:nn:iﬂ:_//
. oy 100,000s |10,000s| 1000 | 1008 | 105 | 15
748 4+ 2
Fnﬁdwaf 46,37 i 00 (00 |[o@
written method & o0
e o |00
525748 e | -
:=513
gg 1;; -@*@*m 19110 Add 100,000 then take away 1,000

1..111 10,0004 iz

100,0005 |10,000s | 1000s | 100s | 105 is |

%|\Hi|

100s | 10
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400082-30005
ﬁmvm to subtract

R

360,000 - 180,000 = 180,000 400,000 = 4 hurdreds of thousands
or 400 thousands
400 - 30 = 370 so 400,000 - 3,000 = 370,000

400,032 = 400 thousands and 32 ones

 00s4-0017
E'w“#ﬂhm‘:'?‘b'?‘v"i‘;f take away 30 thousands and 5 ones
-008 - 0004 /ﬂ =
e o How shall I subtract? I
243453 -99900 ™,
Round then adjust
— e B —
— — 200450 - 199,989 100,000s| | 0008 | 1008 | 108 | s
445,748 - 126374 Find the difference between o loe[eo B3 T00 @0
Excharge ten of — S
B TP J— |
+11 e
iﬂﬁ ?4' —h;m,;;ﬁ_ _KH“\ Take away 100,000 then add 100
|
94,989 A50 sog0
e
14345 143 563 243,463
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—_— ﬂ.ﬁ.l:ﬂ'l fﬂ_ﬂd_—_ﬁlT—“_\\
~ 6x4 Iﬂlmn 5 Use known facts
Use known facts ﬂuﬂ —__andplacevae

ﬂF‘-ﬂE"l"t‘.ﬂ 006X 4 =024
4 jumps of 0.06
60 x 40 = 2400
600 X 400 = 240,000 M

6000 x 4000 = 24 000,000
El:tﬂ.Qx-"-ﬂ-}ﬁ

018 024

06 % 04 = 24 hundredths
06x04 =024

e,

"—\_\_\_\_\_

1000s | 100s

o0
09 00O
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24206
1‘iiiiiifoﬂkmmmﬁﬁs i;
~__and place value -

24+-06=4

How mary steps of 06 make 247

+ 06 + 06 +05 + 056
T T T T

2400 +-400=6 6 bgouts each,
24 000 + 4000 = 6 If there ore 10 times a3 mary

240,000 +40000=6 [t T EnE S Ao
2,400,000 = 400,000 =6 eathrem?

— — 12 18 24
24 = 1000 . 240,000 = 400 = 24 x 10,000 '
Divide by 10,100, 1000 ) 2x100
T I 2400 = 600
q- T
100s| 10s | 1s | %s | s : T
e 00

o0 | =
oo &0 ' |

1431
@ %% 11-|5"?’2*"
@
o0
|
4960 - 8
Partition and recombine
__l.a B0 w8
,; S
4800 160 ]
= B = B
600 + 20 = 620
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